$£32[a] (FH6FE) AB L ILN—K=

2004 &5 A 9 A (KN

BMEAE A TILRY T I -0 * % Kk ok Kk ok * % * x % *

ITEHIRR - HIFRA L WTO@B®DBEB®DO®® INOD@®B®G®D®

HDCPLEFR: (58) 36.0 (&) 36.0 e
JE 4L FEEESR OUT| I N |GROSS| HDCP | NET [=Fiva mEEA OUT| I N |GROSS| HDCP | NET [[=fiva BHEEA OUT| I N [GROSS| HDCP | NET
B B e Zn 1] 35| 76| 8.4] 61.6 ==& 66T | w o B— 39 42| 81| 7.2] 13.8 KIS 51] 47] 98] 21.6] 6.4
BB ks B— 48] 42| 90| 21.6] 68. 4 =& 6/7z |/l BB 5] 41] 86 12.0] 74.0 1320 | K Lia & 56] 48] 104] 27.6] 16.4
6L K =Ms  BER 39 43| 82| 13.2| 68.8| =& 63T | wiaA = 48] 50] 98] 24.0] 74.0 13362 KH IEX 40] 45| 85 8.4] 76.6
R 35 38| 73| 93.6] 69.4BG =& 60 [f=M &AI 4] 54] 98] 24.0] 74.0 134 KA =% 44 47] 91| 14.4] 76.6
5GL  |JKHEH RERX 45| 38| 83| 13.2] 69.8| =& T0TL | K »Hie 39 40| 19| 4.8 142 =8 13502 | % BRE  Ho=t 46] 44] 90] 13.2] 76.8
66 w30 f— M 41| 82 12.0] 10.0 =& T Kol G 4T 38] 719 4.8] 74.2 13602 | xR = 46 44 90| 13.2] 16.8
SRS 43 39] 82 12.0] 10.0 =& IZFEE IR 39 40] 79| 4.8] 74.2 137 =ik fnia 47 43] 90| 13.2] 76.8
8L Al 2+ 46] 42| 88| 18.0] 10.0|L7«+—XE =& T3 M B 48] 43| 91| 16.8] 74.2 138 M B B X 45] 45| 90 13.2] 76.8
0L [ wiEkk o 39 41| 80| 9.6] 10.4 =& 746 B0 EiE 39] 39] 78] 3.6 /4.4 1397 |X& =3 46] 43] 89] 12.0] 77.0
T 38 42| 80| 9.6 10.4 =& 7500 | iliE =& 4 40| 84| 9.6 144 =8 14072 | ZEH am 45 44 89 12.0] 711. 0 =&
e &0 &= 2 37| 19 8.4 10.6 =& 76 |BH B 40] 44] B84 9.6 744 A (LA =& 48] 47] 95 18.0] 77.0
2 | EA = 44 41| 85 14.4] 10.6| =& TG el & 40] 44] 84 9.6 74.4 T [ *EH =X 51 50| 101] 24.0] 77.0
1360 | Kb BIER 37 39| 16| 4.8 1.2 =& T8z | HE BA 47 43] 90| 15.6] 74.4 1436 | Bar 5+ 49 45 94| 16.8] 717.2
1460 K HG B— 37 45| 82| 10.8] 11.2| =& I EE DN 46] 44] 90] 15.6] /4.4 T4 i IEE 48] 46] 94] 16.8] 77.2
15060 | % dae e 50 44| 94| 22.8] 11.2| =& 80 AR A 45 45| 90| 15.6] 14 4 =85 1450 XK H— 52 48] 100] 22.8] 771.2
1660 | weth Rk 43 38] 81| 9.6 /1.4 81y |HHE & 9] 47] 96 21.6] 74.4 1466 T3 BX 52 48] 100] 22.8] 717.2
T 40 41| 81| 9.6] /1.4 82 M X= 46] 50| 96| 21.6| 144 N AET S 49 50| 99| 21.6| 71.4
186 | *=H FE 40] 41] 81| 9.6] /1.4 83 |Eah Xk 38 45 83| 8.4 14.6 148 A BB &g 54 51| 105 27.6] 711.4
196 [ SHBK Bx 38] 43] 81| 9.6 /1.4 TS 46] 43] 89| 14.4] 14.6 1497 [N feh & 49] 37| 86| 8.4] 71.6
206 X fE= 48] 45| 93] 21.6] /1.4 ==& 8oL | wiEA 1Tk 49 46| 95 20.4] 146 =& 1506 | FHA B 16 46| 97| 14.4] 11. 6| =25
21/ IR =R 38 42] 80| 8.4 71.6 86 = IEA 47| 54] 101] 26.4] 74.6 1516 |[HFIE &R 44 47] 91| 13.2] 717.8
26 P BB 42 38 80| 8.4 71.6 8Ty |BH BB 49 52| 101] 26.4] 74.6 152 | Kfad = 56] 53] 109] 31.2] 77.8
B =& Zn 2] 38] 80| 8.4] 71.6 88 |l =FUF 49] 52| 101] 26.4] 74.6 153 | waH =6 48] 48] 96| 18.0] 78.0
P S 38] 42] 80| 8.4] 71.6 80 |l B 53] 54] 107 32.4] 74.6 1546 [ *En B 43 46] 89 10.8] 78.2
B | BA B 38 42| 80| 8.4 /1.6=8& 90z | IUE Boa | 41| 82 1.2] 148 =8 5500 | AIF ==& 44 45| 89 10.8] 78.2
2661 [EZll B 4] 48] 97] 20.4] 71.6 Oz |AH =% 45 43| 88| 13.2| 14.8 1560 | wBX] =58 48] 47] 95 16.8] 78.2
21 | HA B 40 39] 79| 7.2] 11.8B6 LT 4—X& 02 | AWE ZFh 3] 51| 94] 19.2] 74.8 1576 [F8 F— 49 52| 101] 22.8] 18.2
285L | KA FILE 42 43 85| 13.2] 71.8 03 | 40 41] 81| 6.0] 75.0 158 |[F5H an] 43 45] 88 9.6 /8.4
200 [ HHF IE 39] 38] 77| 4.8] 12.2 94 |#EH HETF 42 39] 81| 6.0 75.0 150 [ EA BhE 14 43| 81| 8.4 186 Eakna
0L [N FE B 39 44| 83| 10.8] 122 =& 95%L | %/NR_ IEE 13 44 87| 12.0] 5.0 =8 1600 | x By 1F— 471 46| 93] 14.4] 18.6| =&
3L | &lR  #08h 42 41| 83| 10.8] 712.2 96TL R Bk 45 42] 87| 12.0] 5.0 161 | *iabe =— 47| 46] 93] 14.4] 78.6
N[ EH FE 45| 44] 89| 16.8] 712.2 97z A 1=BH 521 47] 99] 24.0] 75.0 1627 | XA =& 56] 55| 111] 32.4] 78.6
B | wmlx Bk 38 38| 16| 3.6] 12.4 08z | N IFIl %% 40] 40] 80] 4.8] 75.2 1636. | Eds BAE 46] 46| 97 13.72] 78.8
KR 38] 38] 16| 3.6] 12.4 99fL  |[AHE &l 2] 38] 80| 4.8] 75.2 16452 |H®R =& 52 51| 103 24.0] 79.0
B | EE BA 38 38| 16| 3.6 124 =8 1007 2H %k 38 42| 80| 4.8 152 =8 1650 | inll = A 20 49] 89| 9.6| 719.4
36 | oRE AR 2 40 82| 9.6 12.4 101 MG #2s 49 49] 98] 22.8] 75.2 166 K imie RiE 49]  46] 95 15.6] 79.4
3L kel B 50 50] 100] 27.6| 712.4 10262 | X dEF  fhg 3] 42] 85 9.6 5.4 167 | *TE BE 48] 47] 95 15.6] 79.4
B | omiE B 40]  41] 81| 8.4] 12.6 10362 b4 oW 40 45 85| 0.6| 75 4 1686 A Bk 47| 48] 95 15.6] 79.4
30 %/l B 39 42] 81| 8.4 12.6 1047 [EER  BeiT 40 45 85| 0.6| 75 4 1697 | A FHFF = 48] 59| 107] 271.6] 19.4
0 [It8 -2 40 41| 81| 8.4 126 =& 10602 | min = 48] 43] 91] 15.6] 75.4 106 %0l BRE 48] 52] 100] 20.4] 719.6|=%E
A LR =ik 39] 42] 81| 8.4] 72.6 1060L | w ik & 43 47 90| 14.4] 75.6 1712 | HE &E— 50 50 100 20.4] 79.6
02 KR % 7] 46] 93] 20.4] 72.6 1076 Mg HE 44 46] 90| 14.4] 75.6 17260 [FZ 28 54 57] 106] 26.4] 79.6
B | EH BE 40]  40] 80] 7.2 72.8 108 K EK T 48] 48] 96| 20.4] 75.6 173 | *=H &M 49] 50] 99] 19.2] 79.8
M AR BRI 40 46] 86| 13.2] 712.8 1007 | ==%1t 50 46] 96| 20.4] 75.6 17460 | okH = 5] 47] 92] 12.0] 80.0
15 XA E Bk 46] 52| 98] 25.2| 128 =& 0 | AE  B= 0 41| 83| 1.2] 58 =8 1756 [ *fEBE =0 43| 48] 91] 10.8] 80.2
ET T 51 53] 104] 31.2] 712.8 i BH = 39] 44] 83 7.2] 75.8 176f @A ol 49] 48] 97 16.8] 80.2
AT Fonly  E— 38] 41] 719] 6.0] 73.0 112/ /NE EBE& 43 40| 83| 7.2] 5.8 FEGENEES 49] 48] 97 16.8] 80.2
48 [<#HE HEs 39] 40| 79] 6.0] 73.0 1136 /MR Baa 41 42] 83| 71.2] 15.8 178 ZH AETF 51] 52| 103] 22.8] 80.2
0 [KF EH 40 39] 79| 6.0] 73.0 T4 =8 &) 41| 48] 89 13.2] 75.8 1796 X =5 53] 57| 110] 28.8] 81.2
50%% | fabH  fE PUER 44 47| 91| 18.0] 13.0=%=& 115 | PaM  sozs 49 46] 95 19.2| 75.8 1800 |=l  BE 60| 56| 116 34.8] 81 2|2 &
51 | KR B1E 42 42| 84| 10.8] 73.2 116 | X &P Ik 50 45 95 19.2| 75.8 181 (B 5%E 46] 57| 103] 21.6] 81.4
525 |[FA 42 42| 84| 10.8] 73.2 ML | AEH =& 58 49| 107] 31.2| 75.8 1820 [FFE = 56| 47| 103 21.6] 81.4
53 | JomA =ik 44 46] 90| 16.8] 73.2 1186 el =5 44 44 88| 12.0] 76.0 1836L | H 3l 25k 52 55| 107 25.2] 81.8
54 [FA B 39 38 71| 3.6] 13.4 1196 X AR BA 45|  49] 94] 18.0] 76.0 184 XA ik 54 57| 111] 28.8] 82.2
55 |wllifg =& 41 42| 83| 9.6 13.4== 12062 | %W HE 5F 46/ 48] 94| 18.0] 760 =% & 1851 [MRER  HRF 47 50| 97 14.4] 82.6
56f% | % oRpP IEER 40| 43] 83] 9.6] 73.4 21k =% =& 51 43] 94| 18.0] 76.0 1860 | HF &A 52 47| 99| 13.2] 85.8/BB
576 |/FR EE 1] 42] 83| 9.6] 73.4 12202 | % FH BA 45|  42] 87 10.8] 76.2 1876 | xIUA BR 53] 68| 121] 33.6] 87.4
58 %=l Bx 47 42] 89| 15.6| 73.4 1238 A Z— 43 44| 87| 10.8] 176.2

50 [RA MR 45| 44 89| 15.6| 73.4 124 |&H Feal 50 49] 99| 22.8] 176.2 -

60 |&=H B&al 43 39| 82| 8.4 13.6 =& 125 [ % RH Ee 42 44 86| 0.6| 764 *7—7(3; 70&1’J~J:

61 | wEA e 41 47| 88| 14.4] 713.6 1260 w25 45| 47| 972] 15.6 76.4

62 |[Hlg W 45| 43| 88 14.4] 73.6 2/ | F%H BE 4] 48] 972] 15.6 76.4

63 |z HIF 45| 49| 94| 20.4] 13.6 L5141 —RA & 128G |[#EH  BRED 45| 47| 972] 15.6 76.4

64f. HEP =X 57 49 106] 32.4] 73.6 12060 % dtis =& 51| 47| 98] 21.6 76.4

650 |wAm LK 40 35 751 1.2] 13.8|2%58 1306 | AT =k 50] 48] 98] 21.6] 16.4%8

JEEREFRNRR TIL 7 EEE



